A EL S R
Bl 35590 Rk
Re BEPyaL

B R U= E-di

FEI: dV =4mdr, dg=pdV = p47zr

dg :p47zr dr=£rdr
dreyr  Ansgr &,

dU =

kp p
=[au = IRI g_rdr = Z(Rz2 ~R?)

Bl B T 3 50
ERE: O Ry SRR TR

&

HE: dS=27Z7" » dgq=0dS =oc2mr
cosd
JU - 1 dq _ 1 o2mdx/cost _ o 19 O
472'6'0 \/xz + }/_2 472'6'0 \/xz + r2 280
OR
dU = —t odx=-—1g0-h=""
v=] j R M
‘k‘k*’
R,, U,=-2(R
2¢




: WS HEEAREL EU

dr |

dS =2mdr, dq=odS =oc2mrdr

v

R

JU = 1 dg _ 1 o2mdr _ o rdr
e, NxP +r? ATy x4 260 x7 417
v-=fav-= [T

0 280 \x? + 77
AN P A ey SN
2¢, 0 2¢g,

s YIS HLERTE
: R AR RS
dr’
‘
R2
U=U +U,
g 1 i 3_pihyo P 2_R_13
U1_47r50r_47z.90rp3ﬂ(r &) 3¢&, ¢ r)

dV =4m"dr', dq= pdV = pdm'*dr'

12 3.1
dU, = dq - = pimr a,’r =L gy
Are,r 4re,r &

U, = [dU, = fzgﬁr'dr' :ﬁ(Rj — 1)
0 0

2R}
_ 1)
r

U=U, +U2=6L(3Rz2 —

0



Bl: WA EIRIE (R, p), BEEEZN /R

K. (1) O /HIHR

(2) PhEMIZIR, OoP=/HILE, orP=d
#:. (1) E,-F +E,
E=L-d, HHO—>0
3g,

E, =0

E0,=3p d, HEHO—>0
&

1 4 . p r
E e S P ST

dre,(2d)’ " 3 3¢, 4d
3

1% r
E,=E -E,=—(d - ’ Al O — P
P 1 2 350( 4d2) 7‘j‘r—J

Bl: ERRRIFHEPR, o=k, 0<x<b
o

NN

L~ S =1
L~
X
o] x' |dy b P

LA~ /

K (D) WRAMEE (2) RAKEYG 3) E=0KME
f#: HIEL
(1) dE=Z, o=p-1-d¥=hkddx,
2¢,
1

dE = — kx'dx'
2¢,

E=[dE= j”ikx'dx' L
02¢g, 4¢,

v

IR /
i




x
O x' |dy P|b
N
(2) dE =—1hkx'dx’'
2¢,
x 1
02¢,

=V

Ky’ | RN N S S S S S
¥2g,

4e, 4¢,

E=

=L(2x2 _52)
4e,

(3) E=0, 2x*-b*=0, x=(/2/2)b
TN R

(1)
L
T—»E
=
n < —» n
X
P

“— § S S
E O| x' |dx] b

v

NN 1
O={E-dS=ES+ES=2ES=— g,

s T
dV — de’ , dq = pdV =]a',de’

4= [dq = [ ko'sax =%ka2

zES=Lka2, E:ib2
2¢, 4g,
0
",
- E’,,
4_ >
s Sl
E Ol x' Vdx] P| |b X
\/\/\J/
cD:§Ed§=E’S+ES=LZq,.
§ ]

’ ’ _ _ * ' /_1
dg = pdV =kx'Sdx’' %qi—jdq—jokadx —Ekaz

ES+ES=— ke, E=t 2 K4
2¢, 2¢, 4¢, 4e,




Bl: EREEER p = p,cosx ST ERZH
XK: HIHKSAMA L YOZ

0 X

fi: cos(—x)=cosx, HAFHMIRT YOZ FHEXTHR

| EEART 102 FEAH
En YOz
_.<<: 3 —
—x|S O x' dy' Sx x

B 1
©={E-dS=ES+ES —ZES—S—O;q,.

dV =S8dx', dq= pdV = p,cosx'Sdx'

Z q;= I dg = fx 0, cosx'Sdx' =2 p,S sin x
M

2ES =i2p0Ssinx , E=Posinx
& )

E>0, WSxBiIER, E<0, ¥xHfNm
Bl: ERKWTHEEEE (R p=4r, ANEED
X (1) B

(2) ERERESRIRLR [ A BHAT R, KREH

L

li ir

E.

It
fi#: (1) r<R,\r/

- 1
®—§SE-dS—E2ml—g—0%q[

dV =2m'dr'l s dq = pdV = Ar' 27'dr'l
r 2
=\|dg = | 27Alr"*dr' == nAlr’
S0=[dg = [ i =2

~
~~
(=]

E27z7fl=izzAlr3 y E= iﬁ
3¢g, 3¢&,



